Leading Edge
of Roof Panel

Fastener

Clip Base

Alle

Mesa AZ
480-558-7210

ATAS INTERNATIONAL, INC
ntown PA

\ /‘\\\§ 610-395-8445

FLL Clip

PATE 9/9/2016
DATE

CALE X : X




FLL Panel

ATA-Shield
Plywood Substrate
Utility Cleat 1" Movable Clip
/ Butyl Tape
%?,::,,i,k ,,,,,, - - = = = — - - = = — - - — = ,:,:!/,,,,,:,:,,,,,é? ,,,,,,,,,,,,,,,, - - - -
Curved Gable Trim\ - =
#10 x 1" Wafer Head Screw
Hoassine " *
Joggle Cleat Trim Board
(Install 6" length of\ / =
cleat at a max 16" O.C.)
1/2" C.H. J -—
4"
1/4" 1/2" C.H.
L 1
— J *
)\ ol |
T g SFC999-Curved Gable Trim
1" O.H.— ~—1/2" C.H.
* e A 7 ATAS INTERNATIONAL, INC
— — 78" e
g . FLA975-Joggle Cleat VN> et
"™ FLL Curved Gable Detail
FLA962-Utility Cleat =i ===
Note: * denOtes COIor Side. REV-| DaTE DESCRIPTION OF REVISION BY | APP e SH. SIZE B SCALE - w: X




Wall

/ Appropriate Sealant

Appropriate Anchor Fastener

Appropriate Sealant

Butyl Tape
Utility Cleat

Curved Sidewall Trim

/ Segmented Counterflashing (anchor where appropriate)
. s (
\

1" Movable Clip
FLL Panel
ATA-Shield
Plywood Substrate

#10 x 1" Wafer Head Screws

Trim Board

Note: * denotes color side.

%
3/8" W.H.
)\ 4" TYP.
=
1/2114 e 1/2" C.:l. ﬁ -
21/2" =
l 4" TYP.
x . .
SFC999-Curved Sidewall Trim
1" O.H. ‘—ﬂ ~—o1/2" C.H. AT ATAS INTERNATIONAL, INC
. 34 e
— Mesa AZ

FLA980-Counterflashing

480-558-7210

-3 "™ FLL Curved Sidewall Detail
2 5/29/2019 Updated Clip Information AJZ | KRK DWG. NO. DR KRK DATE10/1/2014

FLA962-Utility Cleat |+ e oo
T\‘EOV.' DATE DESCRIPTION OF REVISION BY | APP SH. SIzE B SCALE X:X




FLL Panel

Plywood Substrate
ATA-Shield

1" Movable Clip

ATA-Guard

#10 x 1" Wafer Head Screw "
6" Max

Allow for Thermal
Expansion/Contraction

Trim Board

Eave Trim y

Note: * denotes color side.

Variable Dimension

3/4"

Eave Trim

FLA111 - 2:12 to 4:12 Slope
D1=1"
FLA112 - 4:12 to 8:12 Slope
D1=11/2"

FLA113 - 8:12 to 12:12 Slope

D1=2"

Allentown PA
610-395-8445
- Mesa AZ

D 480-558-7210

ATAS INTERNATIONAL, INC

TITLE

FLL Eave Detail

5/29/2019

Updated Clip Information

AJZ

KRK

6/18/2018

Updated Substrate

MBP

DWG. NO.

DR
KRK

PAT29/2014

APP

DATE

DESCRIPTION OF REVISION

BY

APP

MATERIAL

DATE

SH. SIZE B

SCALE X . X




Gable Starter Cleat

Gable Trim
S.S. Painted Pop Rivet
24" 0.C.
FLL Panel
ATA-Guard
ATA-Shield
1 width of roll

Plywood Substrate

#10 x 1" Wafer Head Screw

Trim Board |
Z Closure y F—‘» 1/2" O.H. *

S.S. Pop Rivet "
6" O.C. 31/2

Butyl Tape
15/16"
1" Movable Clip P 37/16"
1II»
- - L= 13/16" x 1/2" W.H.
?iifiifffffififififia‘béfﬁf, 1" ——
+++++++++++++++++++ -
i g ﬁ FLA212-Gable Trim Cap
. % 11/8" A 7 ATAS INTERNATIONAL, INC
Butyl Tape Detail | 5/8 AN
Mesa AZ
FLA216-Gable Starter Cleat L\ agnsss7at0
- 1" "™ FLL Ending Gable Detail
_ 2 | 5/29/2019 Updated Clip Information wz | ek [PV N0 oR KRK DATEg/29/2014
Note: * denotes color side. FLA914 Z Closure 1| 6182018 Updated Titles and Gable Trim Cap MBP AT APP = DATE
?‘Eg DATE DESCRIPTION OF REVISION BY | APP SH. SIZE SCALE X:X




Wall
Appropriate Sealant
Appropriate Anchor Fastener

FLL Panel Counterflashing (anchor where appropriate) s‘[ BAYAVAVAVAY LW

ATA-Shield (1 width of roll)

ATA-Guard Sidewall Trim
S.S. Painted Pop Rivets
Plywood Substrate p24-- 0.C.

Trim Board g

Z Closure
S.S. Pop Rivet 6" 0.C.
Butyl Tape

I

1" Movable "

Clip 4
! 3/8" W.H.
I \7 /k

) *
I l
ra : P 1/2||

=== | == V == == == i;; %H 21/2" Ll/Z" O.H.

S - G 4"
iiiiiiiiiiiiiiiiiiii g:f J— 1"’
%%%%%%%%%%%%%%%%%%%% = - o o
% * * FLA410-Sidewall Trim
Butyl Tape Detail 11/8" ATAS INTERNATIONAL, INC
' _ — N\ et0395.0445
J FLA980-Counterflashing “ e
= "™ FLL Ending Sidewall Detail
_ 2 | 5/29/2019 Updated Clip Information iz | krk |PVE-NO- bR KRK DATEQ/29/2014
Note: * denotes color side. FLA914-Z Closure 1| 68ns Dimension Updating I :::IZE 5 ::ILEE X




Wall
Appropriate Sealant %

Appropriate Anchor Fastener

Counterflashing (anchor where appropriate) S{

Headwall Trim
Field Notched Neoprene

Z Closure

WAL

S.S. Painted Pop Rivet 24" 0.C.
FLL Panel
1" Movable Clip

ATA-Guard

Plywood Substrate

Note: * denotes color side.

Note: Neoprene Closures are not required if Factory Pre Notched Z Closures are utilized.

Appropriate Sealant
Butyl Tape

AW

Tlu,

}

#10 x 1" Wafer Head Screw

3/8" W.H.

1

)

[ .
j

11*/8" FLA980-Counterflashing

. P 1/2" /)\
21/2" 1/2" O.H.

X

-

Variable
Dimension

4l|

\—

FLA500-Headwall Trim

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

ATAS INTERNATIONAL, INC

-

TITLE

FLL Headwall Detail

5/29/2019 Updated Clip Information

KRK

FLA914-Z Closure 1

6/19/2018 Updated Substrate and Hems

DWG. NO.

DR
KRK

PAT29/2014

APP

NO.

REV.

DATE DESCRIPTION OF REVISION

APP

MATERIAL

DATE

SH. SIZE B

SCRE 3.y




Hip Cap

Field Notched Neoprene

Pre Notched Z Closure

S.S. Painted Pop Rivet
24" 0.C. A A

#10 x 1" Wafer Head Screw
Appropriate Sealant

Butyl Tape

_ = . FLL Panel
1" Movable Clip e PSR .
=% ;\3 = L/:i/;/i::’,// << :\:\:\:\:\i\‘\;\ =~ Z/y: e
| — - - =T = D ARy, ~ I
DI SIS YR
«Ak SRR P
~ = = Ry SRR -
\ 3 ,;///’//// = \\\:::\\:\ )
- ‘/-lé;/,/’:i//’// 5 5 ~SISoss '\\\ ‘

Pre Notched Vented Z Closure

Note: * denotes color side.
Note: Neoprene Closures are not required if Factory Pre Notched Z Closures are utilized.

Tlu

}
11/8"
'

i

FLA914-Z Closure

T, o

Hip Cap

FLA315-2:12 to 6:12 Slope

Variable
Dimension

D1=6"
FLA316-6:12 to 9:12 Slope ATAS INTERNATIONAL, INC
i Allentown PA
D1=7 N 610-395-8445
FLA317-9:12 to 12:12 Slope \ Mesa AZ
D1=8" A 480-558-7210
TITLE . .
FLL Hip Detail
2 5/29/2019 Updated Clip Information AJZ | KRK DWG. NO. DR KRK DATEg/30/2014
APP DATE
1 6/18/2018 Updated Hems and Labels MBP MATERIAL
'?\‘EOV.' DATE DESCRIPTION OF REVISION BY | APP SH. SIzE B SCALE X:X




Ridge Cap

Field Notched Neoprene

Z Closure

S.S. Painted Pop Rivet
24" 0.C.

#10 x 1" Wafer Head Screw

Appropriate Sealant
Butyl Tape

FLL Panel

1" Movable Clip

/11/’//:::’/ == \\:Q:\:\:\:::\
. = S Vi
K ~ =T s SIS ~ A
;:j\ £ >]// \ ///////Z/’//////’,’ \:::\:::\:::\ / \\(r\l/ @7
/;i/’//::/i//i)‘z S’::::\:\::i\\
Ttz k] v SLITSS S
&
14

Note: * denotes color side.
Note: Neoprene Closures are not required if Factory Pre Notched Z Closures are utilized.

f
11/8"

-

FLA914-Z Closure

T o

Variable
Dimension

Ridge Cap
FLA301-2:12 to 6:12 Slope
D1=7"

ATAS INTERNATIONAL, INC

FLA302-6:12 to 9:12 Slope
D1=8"
FLA303-9:12 to 12:12 Slope
D1=9"

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

TITLE

AZ

KRK

DWG. NO.

FLL Ridge Detail

DR DATE
KRK

9/30/2014
DATE

2

5/29/2019

Updated Clip Information

APP

6/18/2018

Updated Hems

MBP

MATERIAL

REV.

NO.

DATE

DESCRIPTION OF REVISION

BY

APP

SH. SIZE B SCALE

X:X




Shed Ridge Cap
Field Notched Neoprene

N

Z Closure Starter Cleat
S.S. Painted Pop Rivet
FLL Panel —
Plywood — AT
ATA-Guard — i
#10 x 1" Wafer Haed Screw = =~ iH

1" Movable Clip

A

D1 D1
1/2" O.H. Variable D2
)\\,/ Dimension _
—_— >/
3/4"
rr'» A FLA349-Shed Ridge Starter Cleat
n n 2:12 to0 6:12 Slope
13/16" x 1/2" W.H. e 1o
o ] 6:12 to 9:12 Slope
11/8 FLA346-Shed Ridge Cap D1=6.375"
! FLA342 - 2:12 to 6:12 Slope 9:12 to 12:12 Slope
D1=7", D2=6.25" D1=6.625
1..# FLA344 - 6:12 to 9:12 Slope AT ATAS INTERNATIONAL, INC
~ D1 = 8", D2=6.5" Allentown PA
Pre NOtChed Z CIOSU re FLA346 - 9:12 to 12:12 SIope » 61(;2;5-:;45
FLA914-Z Closure D1 = 9", D2=6.75" )\ 480-558-7210
T FLL Shed Ridge Detail
Note: * denotes color side. 2 | 52972019 Updated Clip Information a1z | krk |PWE: NO- bR KRK DATEQ/30/2014
Note: Neoprene Closures are not required if Factory Pre Notched Z Closures are utilized. e e L e ssaE g oy




#10 x 1" Wafer Head Screw

Trim Board

Z Closure

S.S. Painted Pop Rivet
6" O.C.
Butyl Tape

1" Movable Clip

Gable Starter Cleat
Gable Trim

S.S. Painted Pop Rivets

24" O.C.

FLL Panel
ATA-Guard

ATA-Shield
(1 width of roll)
Plywood Substrate

=
=
2
7

Note: * denotes color side.

Butyl Tape Detail

- 1'#
!
11/8"
{
-
FLA914-Z Closure

<74"4>

3

?

15/16"

#

*
1/2" O.H. ——

1/2||

37/16"
1"
13/16" x 1/2" O.H.
? FLA212-Gable Trim Cap
AT ATAS INTERNATIONAL, INC
n Allentown PA
5/8 610-395-8445
Mesa AZ
FLA216-Gable Starter Cleat I\ S
"™ FLL Starting Gable Detail
2 | 5/29/2019 Updated Clip Information AIZ | KRK DWe. NO. R KRK DATEQ/30/2014
1 6/18/2018 Updated Hems and Titles MBP MATERIAL APP DATE
"K\‘Eg DATE DESCRIPTION OF REVISION BY | APP SH. SIZE B SCALE X:X




Wall

% Appropriate Sealant

Appropriate Anchor Fastener

AVAVAVAVAVAVAN
Wy ; Counterflashing (anchor where appropriate) Plywood Substrate
ATA-Shield (1 width of roll) ATA-Guard
Sidewall Trlm ) FLL Panel
ﬁgﬁ (I)Daclnted Pop Rivets 1" Movable Clip
—Trim Board
| |
’ = _ L . . - [ 4 _r — = [

%
4"
Z Closure "
3/8" W.H.
S.S. Painted Pop Rivets /
1 6" 0.C. )\
Butyl Tape — =
I "
1 1/2114 < X 1/2 OHJ
21/2 4"

ATAS INTERNATIONAL, INC
Allentown PA

- 1"
ﬂ 3/4° i FLA410-Sidewall Trim

H: t == == == ===
;::::::::::::::::::::: *
= 11/8"
: Mesa AZ

% Butyl Tape Detail Lr'» FLA980-Counterflashing \ =

"™ FLL Starting Sidewall Detail

2 5/29/2019 Updated Clip Information AJZ | KRK DWG. NO. DR KRK DATEg/30/2014

APP DATE

-

6/19/2018 Updated Titles and Substrate MBP

MATERIAL

Note: * denotes color side. FLA914-Z Closure

REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X.X




Specify

19/16"

FLA800-Valley Trim

90°

# 10 x 1" Wafer Head Screw

Joggle Cleat

Valley Trim

Trim Board 4" Min. to 6" Max

Note: * denotes color side.

9 15/16"

ATA-Guard
ATA-Shield

(1 width roll)
1" Movable Clip

Plywood Substrate
Butyl Tape

on T

11/2"

R

FLA975-Joggle Cleat

Allentown PA
610-395-8445
- Mesa AZ

D 480-558-7210

ATAS INTERNATIONAL, INC

TITLE

FLL Valley Detail

5/29/2019

Updated Clip Information AJZ

KRK

01

6/19/18

Updatimg Grpahic and Dimensions |JC

DWG. NO.

DR
KRK

DATE
9/30/2014

APP

REV.
NO.

DATE

DESCRIPTION OF REVISION BY

APP

MATERIAL

DATE

SH. SIZE B

SCRE 3.y




Appropriate Sealant
Appropriate Anchor Fastener
=N
Counterflashing (anchor where appropriate) AR
Vented Headwall Trim
Field Notched Neoprene
Vented Z Closure
S.S. Painted Pop Rivet 24" 0.C.
FLL Panel
1" Movable Clip A
Plywood 2
Substrate\ S o CT;/ = / =
TN , //:: :/—/’/: —
~ )‘ —— = 1”/:::”/
\ e %
//:/ 4
~—21/4" —
5/8" |
N

Pre Notched Vented Z Closure |

Note: * denotes color side.

Appropriate Sealant
Butyl Tape

#10 x 1" Wafer Head

AN

X

-

Variable
Dimension

31/2"

FLA512-Vented Headwall Trim

FLA510 - 2:12 to 6:12 Slope
\7 D1=8.5"
T ) 3/4"
C e

3/8" W.H.

FLA514 - 6:12 to 12:12 Slope
3/4"

ATAS INTERNATIONAL, INC

Note: Neoprene Closures are not required if Factory Pre Notched Vented Z Closures are utilized.

-

FLA915 - Vented Z Closure

D1 =9.5"
11/8" *
'

FLA980-Counterflashing

Allentown PA

610-395-8445

"\ - Mesa AZ
480-558-7210

TITLE

FLL Vented Headwall Detail

DWG. NO. DR DATE

2 | 5/29/2019 Updated Clip Information AJZ | KRK KRK 9/30/2014

APP DATE

1 6/18/2018 Updated Variable Dimension and Titles MBP MATERIAL

TQE(;I DATE DESCRIPTION OF REVISION BY | APP SH. SIzE B SCALE

X:X




Vented Ridge Cap
Field Notched Neoprene
Vented Z Closure

S.S. Painted Pop Rivet Butyl Tape
24" 0.C. -
1" Movable Clip ° ATA-Guard

#10 x 1" Wafer Head Screw
Appropriate Sealant

FLL Panel o= Ss.
i =3 Plywood Substrate
%) /;?/’/////:/’/ </// 5 :\;\:\::i:\ TS
==~ - _~F NI NS — 7
\;f E’(\C\%‘ — \ /////////://://’//:////:i/ \\:::\:\:\:::\:\::\\ / iiz/ ,/Z/Zb
— = ///:/:/://////:/ \:::i\:\\:\ == O~
\ = E s /
// ////:/://://////// = ‘g‘ §‘ S ::::\:::\: S
e 1 =
D1
Variable
Dimension
-2 1/4" —= 3/4" 1/2"
5/8" . ]
' L g Vented Ridge Cap
FLA322-2:12 to 6:12 Slope
o D1=7 1/4" ATAS INTERNATIONAL, INC
5 /8" * FLA324-g:11_28tC])- /94..1 2 Slope Allentown PA ,
= 610-395-8445
FLA326-9:12 to 12:12 Slope \\ : Mesa AZ
| D1=9 1/4" VR 480-558-7210
.. =71 T FLL Vented Ridge Detail
Note: * denotes color side. 2 | 572972019 Updated Clip Information a1z | krk |PWG- NO- DR KRK DATEg/30/2014
. . . Vented Z Closu re 1 6/18/2018 Updated Titles MBP MATERTAL AP DATE
Note: Neoprene Closures are not required if Factory Pre Notched Vented Z Closures are utilized. Aam— e ———— —— SSE g SAE oy




Field Notched Neoprene

Butyl Tape
Vented Z Closure

S.S. Painted Pop Rivet
Plywood
ATA-Guard
FLL Panel
1" Movable Clip

-21/4" =
5/8" ]
1
n - *
5/8 11/8"
v

-

Shed Ridge Cap

Starter Cleat

#10 x 1" Wafer Head Screw

ST

3/4"

2:12 to 6:12 Slope

D1

3/4"

\ -
{A\( 1/2"
13/16" x 1/2" W.H.

FLA366-Vented Shed Ridge Cap

FLA362 - 2:12 to 6:12 Slope
D1=10.5", D2=6"

D2

FLA364 - 6:12 to 9:12 Slope
FLA369-Vented Shed Ridge Starter Cleat

D1 = 11.25", D2=6.5"
FLA366 - 9:12 to 12:12 Slope

D1 = 12.25", D2=7.25"
D1=5.875"
6:12 to 9:12 Slope ATAS INTERNATIONAL, INC
Vented Z Closure 08375 Alertown PA
112 to 12: ope 610-395-8445
Pre-Notched Vented Z Closure D1=7.125" D\ S
"™ FLL Vented Shed Ridge Detail
Note: * denotes color side. 2 | 52972019 Updated Clip Information wz | kri | PG NO- bR KRK DATEg/30/2014
N " . N APP DATE
Note: Neoprene Closures are not required if Factory Pre Notched Vented Z Closures are utilized. I e A erone Do 00 TS | TR S -
o |  DATE DESCRIPTION OF REVISION BY | APP : B X:X






